#4& / Specification

fEzN 75 = /Acting W zHE

T AE 4T BR/Fluids TS e

{8 F I 71/ Pressure range 0.15~0.7| 0.1~0.7MPa | 0.05~0.7MPa
it 71 /Pressure-Resistance 1.05MPa

T {EiRE /Fluids temp 10~+60C

538 & 36 ] /Speed rangelm/s)[30-300[30-800|  30-700 | 30-600

1THE HEE /Stroke length tolerance

HE[E1TFE: 0~-5mm

1. BT RRAE, £Z AL 3,/ Cushion type B iH IR IR EE ]
2. ofEHI S, WHAMEAENB: | voommice 1 oo =
3. AARARRRR RS, |1 2/ Lubricaion ‘ THE
4, THEREAEE S, WIEZIAE, &H 7% /Bearing TGN, RIS EEHR
5. ENENAFS S SEE S M8 pw— :
7, ﬁfﬁﬁ??ﬁtﬂiﬂ;ﬂ_ﬁjﬂgléiﬁé: IEE 012 /Port size M5x0.8 | 1/8
6. BRENG AT, * HNED, ERBETEIS M.
7. AARITIE. —
= /Mark
AR W AFE
T %5,/ Ordering NO.
PSS W TR BT RAEL
M: 78 B4 fI1z T2 TiES: TR kics: 24
L: iRER S A& DX32 : Hi&iEHLA-166 S: 14
N: n4>
IR AT 3 T R % BlE L

TRABEE

MEEE

TREBEE

MEEE

|| A FTEC

www.F-TEC.cn




KCXS series

wwriTEcen | FHETE

1T#2/Stroke

6 | 10 20 30 40 50 50 70

10 | 10 15 20 25 30 35 40 45 50 55 60 70 75 75 100

15

DX-32

20 | 10 15 20 25 30 35 40 45 50 55 60 70 75 100 200

25 | 80 90 100

32

1 |iEHR 4 |[BEEFHE 7 &K 10 |B= 13 |EEER

2 |AAER| 5 |[TEHE 8 |iEES 11 |RhiER 14 | fEEIR

3 |Zihige 6 |0EL[E 9 [iE=E 12 |EEZHE
IR RE REZRHE NBR BriEds TPU
AR BEE FEHE NBR BE Y B S EE N
B= HEE ORI NBR NAREE T
AE mE LEIN g e EEM SA5CHETER
K A




KCXS series

4MER#R & /Dimensions

www.F-TEC.cn | EBF.TE

AR

10_13+{T#2

2-M3x0.5
XTEER

58.5+1712

55

45+4718

M35 21

13 10+1247%

M3x0.5x12.5L (7% £ K424T)
RM3X0.5 R i)

10+1/217%2

2-M5x0.8 (B2E 1)
AR

7~ figsT
2-M3x0.5
JE

[ Z8 [ [lo+12f7R 137 [45+T72[58. 5+(7 |
KCXS6-10 | 10 15 23 55 68.5
KCXS6-20 | 20 20 33 65 78.5
KCXS6-30 | 30 25 43 75 88.5
KCXS6-40 | 40 30 53 85 98.5
KCXS6-50 | 50 35 63 95 108.5

- EAR

#10, 15

4

(9] @

X (M7 fi24])
M

D 1
B




KCXS series wwrtecen | EHETED

XS 51/ Dual-rod cylinder

SNER AR/ Di >

KCXS10~32 series

HAR KCXS
#e [alBlc|p|E] F [ec[H[i|a]K|L] M N [NNJo]oo [P | PP [Q|QQ|R[RR|S ]SS
KCXS10-10 10] 65
KCXS10-20 2-M340.5 20|75
KCXS10-30 |46 |17 |44 |15 |75 Z(Lg;f?7 35(20[4]8]9 2 Zﬁgié By |6 |5 i"ltng 336 | Max07 [85| 7 [30 | 7 [30] 85
KCXS10-40 RS ' 40 95
KCXS1050 50 [ 105
KCXS15-10 0] 70
KCXS15-20 2-Mdx0.7 20| 80
KCXS15-30 |58 |20 |56 |18 | 9 [2M908 45|25 |5 [10 | 9 [30 (2243 lger |8 |6 m‘gz 48 | Max07 | 10 | 10 [385( 10 [30] 90
KCXS15-40 (&) B | 36 : 40 [100
KCXS15-50 50 | 110
KCXS20-10 ) 055 10 80
KCXS20-20 iy 20 90
KCX520-30 2M50.8 2095 | 2M407 M6xL0 $0 1100
KCXS20-40 |64 |25 {62 (23 15| 7, |50 |28 | 6 |12 |12 (30 57" |48t |10 | 8 | g | 53 | MBXLO |7.75|125| 45 |7.75[40 110
KCXS20-50 . | R0 ' 50 [120
KCXS20-75 5 ;" 75 | 145
KCXS20-100 ' 100[ 170
KCXS25-10 10 82
KCXS25-20 Z:Q’G-Lg 0] @
KCXS25-30 2M6XLO porl 25108 MexL0 ol
KCXS25-40 |80 (30 78|28 |14 | g7y (60|35 | 6 |12 |12 |30 | oo™ |smsy |12 |10 | oS | 64 | Mex10 |85 15 | 46 | 15 [40 112
KCXS25-50 mpE. AR5 ' 50 | 122
KCXS25-75 o 75 147
KCXS25-100 100[172
KCXS32-10 2069 0] 9
KCXS32-20 o 20 [102
KCXS32-30 2-MXL0 2911 |2M508 M8x1.25 30 1112
KCXS32-40 |98 |38 96 36 |18 | (g7, |75 |44 | 8 |16 |14 |30 |20 |mmsy |16 |13 10| 76 (Mexi25| 9 | 19 |56 |19 [40 [122
KCXS32-50 g, | RS 50 [132
KCXS32-75 e 75 | 157
KCXS32-100 100]182
S |T|TT|U| WU v W |X |Y|Z|zz|| IS |T|TT|U| UU v W [ X|Y|Z|zzZ
KCXS10-10 MO8 [ 4o 20|82 | [KCXS25-10 301106
KCXS10-20 BRI | laor? | 20407 M3 M6 [ 82 ] [KCXS25:20 Y 116
KCXS10-30] - | 5 (8| 45 | %5 |z 05 (08 [ [102] [KCXS25-30 spurrs | SMO08 1) ot o5 (Mex |Mex| (126 |
KCXS1040 @S0 | il 7 paoc]esL (40 [112] [kexs2540 13| 9 (9| 65 |FERE gy 10 |125(40[136
KCXS10.50 GHER) 122| [KCXS25:50 G50 | oo ol 12 |xidLleL | [146
KCXS15-10 MO8 [ 0o 25|89 | [KCXS25.75 (TR oo L]
KCXS15-20 BARE | oyt 215008 [M5K | MBx| 2[99 |[KCXS25-100 1%
KCXS15-30| - | 5 (8| 45 | ®5™ lgume 08 (10 [ [109] [KCXS32-10 wolz]
KCXS15-40 S | uamamy| 8 [xI0L[X5L [35]119 | [KCXS32-20 4-1/8 132
KCXS15-50 (HEHR) 129 [KCXS32-30 BRI | s 2B, 25 (M8 (MI0[ 142
KCXS20-10 30 1104][KCXS32-40 |2011.5[10| 6.5 *‘*'7 A lspsgie [1.25 (405 |50 [152]
KCXS20-20 ANBO8 | g yrpo 1141 [KCXS32:50 GO |k [ 12 [xi6LieL | [162
KCXS20-30 BURE ﬂé*s‘c“);)? 2-M6xL.0 |M6x |M8x|  [124 | [KCXS32-75 (AR 701287
KCXS20-40 [9.5/6.5(8 | 4.5 "6’*" 240 (1.0 [1.25(40 [134 | [KCXS32-100 212
KCXS20-50 #50) immE)| 10 [x12L{x6L 144
KCXS20-75 (FEHALRD) 60 1169
KCXS20-100 104

r 5 1 1
AP A153] ]

www.F-TEC.cn




KCXSW series

www.F-TEC.cn | EBF.TE:

HNERFL 4% /Dimensions

- HAE

2-M3x0.5
10, ‘XH‘E*EI?I

w

2-M5x0.8 (B2 & 1)
XTEER

5.5 8

8_S55

M2.5x0.45x6L
RARIRET

4-M3x0.5
Bl

33 2.75
M3x0.5x5L
M7 FiBET
o o
H - >
joo
©

2-M3x0.5x12.5L (7~ 3 K8RET)
R2-M3x0.5 (R figd)

‘ (13) @

2-93.41B7L
2-96.5;FLiR3.3

(13) |

(28 [s[ssz[z]w]
KCXS6-10 | 10 | 66 | 103 | 40 | 46
KCXS6-20 | 20 | 76 | 123 | 50 | 56
KCXS6-30 | 30 | 86 | 143 | 60 | 66
KCXS6-40 | 40 | 96 | 163 | 70 | 76
KCXS6-50 | 50 | 106 | 183 | 80 | 86

(20) 2) (20)

4M3405 ‘

KCXS10-10
/E | KCXS10-20
KCXS10-30
£ | KCXS10-40
KCXS10-50
KCXS10-75
;= |KCXS10-100
o |[KCXS10-125
KCXS10-150

10
20
30
40
50
75
100
125
150

92
102
112
122
132
157
182
207
232

136
156
176
196
216
266
316
366
416

52
62
72
82
92
117
142
167
192




KCXSW series wwrtecen | (HETED

4MNERER 4% /Dimensions

- EAR

(25) [04) (25)

2-M4x0.7x14.5L (7~ Fa 24T,
2-M6x1.0x5L 4MAX0T / 2MAXO.T(R IR R ) 9 4-M5x0.8iE7L
[

#R | KCXS15-10 | 10 |105 | 153 | 55
JE |KCXS15-20 | 20 [ 115 |173 | 65
4-M4x0.7 —

\ 1T | KCXS15-30 | 30 |125 193 | 75
£ | KCXS15-40 | 40 [135 213 | 85
KCXS15-50 | 50 | 145 | 233 | 95
¥ KCXS15-75 | 75 | 170 | 283 [120
T KCXS15-100|100 | 195 | 333 | 145
o [KCXS15-125|125 | 220 | 383 | 170

* | KCxs15-150 150] 245) 433] 195

(30) 2) (30)
8-M4x0.7

2-M8x1.25x6L 15 4-M5x0.8i@7L
[

#& | KCXS20-10 | 10 {120 | 178 | 60
# | KCXS20-20 | 20 [130 |198 | 70
7 | KCXS20-30 | 30 [ 140 | 218 | 80
407 ‘ 2 | KCXS20-40 | 40 | 150 | 238 | 90
KCXS20-50 | 50 | 160 | 258 [100
KCXS20-75 | 75 | 185 | 308 [125
4 [KCXS20-100[100 [ 210 | 358 |150
/= |KCXS20-125[125 | 235 | 408 [ 175
17 [kCXS20-150] 150 | 260 | 458 | 200
= [KCXS20-175] 175 | 285 | 508 | 225
KCXS20-200] 200 | 310 | 558 | 250




KCXSW series wwrtecon | EHETED

HNERER 4% /Dimensions

- EAR

(30) 2) (30)

2-M6x10X18.5L (7 £425T 2-96.93@37L
2-M8x1.25x6L 4M5X08 /2 MEXLO(N FRREh) 21 ARG 3 4-M6XL0iE7L

26110041 [ BS Ts(ssfafz]

¥R | KCXS25-10 | 10 |122 | 180 | 62
Jf | KCXS25-20 | 20 [ 132 [ 200 | 72
1T | KCXS25-30 | 30 |142 | 220 | 82
£ | KCXS25-40 | 40 | 152 | 240 | 92
KCXS25-50 | 50 | 162 | 260 | 102
KCXS25-75 | 75 | 187 | 310 |127
K KCXS25-100{100 | 212 | 360 |152
4~ |KCXS25-125|125 | 237 | 410 [177
‘E KCXS25-150 150 | 262 | 460 | 202
L2 KCXS25-175|175 | 287 | 510 | 227
KCXS25-200| 200 | 312 | 560 | 252

4-M5x0.8

(30) @) (30)
8-M5x0.8

2-M10x1.5x8L 18 4-M6XLOBEZL
1

#r | KCXS32-10 | 10 |143 | 213 | 83
#E | KCXS32-20 | 20 [153 [ 233 | 93
1T | KCXS32-30 | 30 [ 163 | 253 [103
2 | KCXS32-40 | 40 [173 | 273 |113
KCXS32-50 | 50 | 183 | 293 [123
KCXS32-75 | 75 | 208 | 343 [148
4 [KCXS32-100]100 | 233 | 393 [173
/= |KCXS32-125] 125 | 258 | 443 [ 198
17 Tkcxs32-150] 150 | 283 [ 493 | 223
% |KCXS32-175| 175 | 308 | 543 | 248
KCXS32-200] 200 | 333 | 593 [ 273

83






